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Physics

MEASUREMENTS

I Silicon can be oblained from:
(A) Lead (B} Uranium
(C) An isolope of (D) Sand
oxygen
: Light year Is a unil of.
[A)  Time (B) Oistance
(C) Velocily (D) Intensity of lighl
! gm-cm' is equal fo;
(A) 107 kg-m? (B) 10"kg-m?
(C] 1 hg-m? (0} 105kg-m*
Which one is the least multiple:
(A) Pico (B) Femlo
(C) Mano (D) Atlo
Stgaificant figures /n 0.0010 are:
(A} Four (B) Three
(C) Two (0) One

Resistance of a wire has been calculated by R
v '
= < as 6.2 0 with 8% uncertainty. Than the

resultin ohms will be recarded as’
(A) (H) 62 ¥4
(C) AD) B2+ 05
Addition of 2.189 Kga('089 kg, 11,8 kg @nd
532 kg gives thelountded off answer as:

E04B

F2+2

Al 19393 (B) 15400
(€} 99 (D) 193
Which guantity has differenl difmensions:
(R} WWar {0} FPressue
(C) Energy (D) Tomue

The quantity having dimension of MLET 7 will
tiave Sl unit of:

(A} Wall (B) Newfan
(C) Joule (0} Melre
Thio time taken by light fo travel from Maan (a
Earth 15
(&) B0 see (B) 3500 sec
(G} 1832 « 10 eog ([ Aerophysics
___ANSWERS
D2 [B[3 I,.f-__.-*-_l_n{ 5. [ €]
D | cC |8 [ B |9 [C |1 [A
FCTORS & EQUILIBR

Which is correct?

10.

%
8] ; A
) — A G
.A E =5
A A
© 7 @ .4
A=g s
The direction of a veclor in space is P
by: ’
(A) Oneangle (B) Two angles

(€) Three angles (D) Mane of aboye
Distance AB belween the points A (2,3,4 a4

g (-5,6,7) is given by: i
P BQgi-d g

(R) ?,'agraﬁh __
© _x-z-ak KO -7iegial
= 20+ 3= & then its magnitude wilbe

A) V3 B
() V3 0 3

() .4
Which one is correct?
el B B) Acsmpe—s
AcosO= T E, E‘
= (0) =
':C’ f]'i AC(&EH:E—E?'
Acosf=7"g : E

L A
Work done by the force i + 2j for a distance ¢

* 5_?\1.14'-’ be:
(A) 12 units (B)
(C) 32 unils (D)
The product of mass and valocity gives
mamentum of certain body. This product s

called:

22 unils
42 unils

J

(6) Cross product

(A) Dol product

(C)  Simple produnt (D) Mong ol Inese
Magnitude of forque acting on a body
defermines:

(A) Linzar {B) Angular

acceleralion acceleralion

(C) Mass (D) WMomenlam
Torque (s also called:

(&) Momenlum (B) Linearineria

(C} Momentofaforce (D] Mass

The perpendicular distance from the axis ¢l
rotation to the line of action of farce is called
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(A) Moment am — 165
{c) TDITIU'E Egi :'JhMinﬂfahm =
ANSWERS one of Ihese c velocity (s 720
- 2 ] C 3 | D so, \GL Onbyviszers (O) Nothing of abave
1. T c |8 | B 3. “m . A prajectilo Is (hrown at an angly of 30 with
[6, B 1= - | B |o. 0 A horizontal with a velocity of 980 m sac’. The
= A time of fiight fo reach the highes! poin of s
trajectory Is;
(&) 50sec (B) 100 sec
: when brakes are applied (o a fast mo (C) 150sec (D) 250 sec
I = ) Backward . | AlZ Al |C& | DI5 A
(C) Downward (D)  None of the 6. |A7. |B B | B3 | €PN n
The direclion of acceleratin of Se oo
?  moving in a straight line is: @ body _
(A) Along &V (B) Pomend WORK & ENERGY_
Aglpcndic-ufar o | T Work done alang a closed path in 2
ards onigl ; gravitational field is:
JOMARES PR (D) Naone of these (A)  Maximunm (B) Minimum
3 consult page S0 of your fext and tek (C) Zero (D) Unity
correct statement: the | 5 i, =
Velocity of - Tick the conservative force:
(a) Vewclty x-rays  (B)  Velocity of light is (A} Tengion n a3 (B} AW resistance
is greater  than less than velocity sinng
velocity of light of radio waves ([C) Elastc  sprng (D) Frctional [oee
(C) velocity of hghl, (D) None of ahove is lorce
x-rays and radio cormect 3. A body of weight 1 N has.a kinetic energy of 1
waves Is the : Joule when its speed is.
same . {A) 146 msec’ 8y 2.44 msec’
The law of conservation of linear momentum {C) 342 msec! (D) 443m sec’!
js valid for: 4, When two (Riclons are brought closer
(4) Aloms only (B) Malecules only potentialensrgy of both of them:
(C) Other systems  (0)  Allof them (A) |ncreases (B) Decreases
anly (C)% \Pemains same (D) None of these
i v denotes valume of the liquid.coming out 5. The velocity given [0 3 body (o 9o out of the
of 2 pipe per second. v.its\welocity and A as influence of Earth's gravity is knowi 5
Jrea of the pipe, (hem (he correct formula wili (A) Terminal velocly (8) Croia weloey
ha' (C) Escape velocily (D) Mene ol Inese
) Vv R (8] v=VAh & M;J”"‘;g'f"‘;f,iq”” o o 36K
€] AShY (D) Nane ofthese o e v {D ey
W' m means mass of gases ejanted per second | 5 (C) 36x10 K _ Wy e s 10 i
fom & rocket and v shows the change in | = The consumption of energy by @ 10uE
velocity, then mv is namied as: .":-oaicr’m half an hour i5: ]
(&) Force (B) Energy (A) 5Kuh (B) 0S5HKwh
] Wark (D) Impulse (C) 25Kwh (D)  3.2¥wh
Range of the projectile is the same for the 8. HBiomass includes:
following pair of angles. (A) Crop residue (B) Malural
(A) ¢ and 45 (B) 35 and 55° vegelalion
(T} 15 and 607 (0 307 and 75° (C) Animal dung (0) Allofihese
For maximum horizontal range, the angle ol 9 Root out the conventional source of enar
ijecrjun must be: (A) Energy from  (B) Hydroglecinc
!If::l 0 (B] 4% blomass eneray
) 60 (D} 99° (C) Geothermal (D) NMoneof thes
M#Hhe highest point, we can claim that. energy
i '?-‘:m!iar:i velocity (B) Cnly hanzontal 10. Ethanol (alcohol) is @ type of.
RIEeH) companent of (A) Electic luel (B) Bioiuel
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(C)  Nuclear fuel (D) None ol these

: ANSWERS
_ Tl

1.

cl2a [c|a | D[4 A |5

o[z |8|s |09 [B]10
CIRCULAR MOTION _

Conventionally the angular vefocity I

directod at an angle of°

A) 80 o Ine axs of
rolancn

(C) 0t the aus of (D)

rofalon
if a toy car maves with a uniform speed of 2

misac in a circle of 0.4 m radius. His angular
velocily in rev/sec is:

(&) 0= (B) 086

(€ 02n (0} Mane
Thirty-six degrees is equal lo:

(Al (8)

(B) 3¢ lo lhe axis of
o atan
fone of lle above

.1:: Lo =]

il
ra

(C) (0)

iyl o= m

The relation betwaen 1. land a is as follows:
(41 1=l (8)
(C) l=ar (B z=lay
It 2 gymnas( sifting on 3 rotating Stoal with

a=xl

his srms oulstretched, Umngs his arms (

towards the ches(uthen {15 anguler velecify
will

(&) Ingeeass (B8) Decrease

(CybRemain constant (D) _Mape al hese
The el force acling on 3 100 kg man
standing In  an _ e@valor accelerating
downward with a= 58 m sec’ comes oul [0
be

(&) fEON (B) S20N

(C) 8O (0] Zern
A ball tied at ono end of the siring is swung in
3 vartical circlo of radius ¢ under aclion of
gravity The net force lowards cenlre al the
top most gointis:

(A) T W

(C) W-T
The number of

[+ W
Mona al thess
stations™  which

(£}
(D)
“"Earth

transmi! slgnals to salollites and recoive

signals from them are.
(By 3 (E) 24
15 B (D) 260

INTELSAT aperates al fraquencies 4, 6, 11, 14

having unit of;
(&) KHe

(B) MHz

10,

1y
GHz (D) EHzR

Einsfeln's theory 3bout gravity is b,
Nowlon's bocause it gave explanatign o Elq
(A) Inwerse square (B)  Bendinggry,
law 0
(c) BathA and B | ) None of 3r
ANSWERS s

‘?‘T.-]

1.

9

~FLUIDDYNAMICS

The property of llulds due 10 which they py,;
their own flow is called: ol
(v COagforce (B)  Surlace tansje,
(C} | Viscoslly (O) Mone of these
Dansity of & fluld Is defined as:
(&) Mz volume (o (B) Froduclof oy,

T :___,LF-__ afa_Tolg
o[B8 "M’—JE—IEEE

mass rmlio and mass

@y Iis mass of (O) MNoneolibass
volume raho

Stoke's [aw halds for:

(A} Moton  IhroughS AB) Molion ey
[ree space : VISCOUS memm-_;

(C) Bodies 40" al (DY None o \hess
SNAPLS,

Fag deoplels are suspendad in air when (hs
weight is balanced by:

(k) Force of gravly (B) Upward
dus 1o air
(€) Surface lensian (D)  None of thess

The equafion of conltinuity is defined as Ay,
= Ay Unitaf Asvyis!

(A} Cubic meler (B) Cube meter po
second

(C) Squarz meler per (D) Nore ol these
gacond

Turbulent flow is:

(A) Unsteady  and (B} Sleady and
redulat Irregular

(C} Unsteady anid (D) Neneof these
iriequiar

Unit of density to mass ratio 1s!

(A} m {B) m?

(C) kg-m! (D) Mone ol these

Volume of a cylinder can be found by.

W 1 B ar
3

(C)  Length « breadth (D) None ol these
,hﬂgh!

Narmally, the blood pressure (torr unif) in
healthy human body varies from;



(s ynigue AFNS Gulde

gopsstse
v 20010 100
(Al () 187

y 12010 80 150 15
‘C}_nﬂlﬂbm hlg’ Is & part [‘:_'J Iﬂﬂln;g

2 .. " sphyamomanomeler W fraquency will be:

(A Trenmomeler G (B)  Stem, (A 2500 M+ (B) 0.25 Wiz .

(€) AN (D) Hmm”'-‘ (C) 2500 KMz (D) bone of these

. ANSWERS ©olthese | ANSWERS
- | B T4 H Z (o B 18]S

: 8. [ 8|39 .E.E ® E [clr [els c 8. 11:&5'
£ R K

OSCILLATIONS
M When quarter of a cycla |s Complateq,
; the

The square roct of 0.4 is l
smatiar Hian O 4

] pnasg of vibratlon js: :g]} Greater than 0.4 [lEI, .
[A) 80" (B) 18 2 -} Eauallo 0.4 (D) None ol =2m
(C) 43 (D) 3ﬁl$ : Wavefength and time pericd T are relatad 10
pistance covered during one vip, m;ha u.'.::;.ll‘jw of the wave as.
L scillating body In terms of am pm’:;?: of an e (B LY
:E% jA Eg; ii 2 ; lc_} A=Tv (D) Nene ol Inese
: ; . - * he ratio of speed of sound in hydragen fo
1 A body of mass 0.031 kg attached 1o ong ¢ the speed of sound in oxygen Is:
of a spring of spfing censtant 0.3 Nim I;ﬂd (A) 41 @) 14
time PE‘”‘:"'“' of spring mass system will be: o (Cy &1 0) 1B
(A ! 5 sec (B) 2.0sec 4 If the atmospheric pressure. (s doubled, the
i) 2dsec (0) 25sec speed of sound. :
| The time Pt’ﬂﬂ_d of a simple pendulum | (h) Inzreazes by €1 (B Decreases by ©1
independent ol its: * em sec) om sec
(4) Lengih (3) Mass (C} Remargaonstant (0) HMone el these
) Vauzolg (D) Both A and.fh 5, Two idertical tuming farks vibrate at 256
; if time period of a pendulum js uﬁubmu 2 clées After loading cne of them, & baals lsec
ncraasing its length, (hen its freqUency will A€ heard when forks are soynded together.
l»‘“ Also be dCUbled lB;' Bfcome half ' The perlad ol the H'Uﬂd@d fork is:
(c) Become gne (D) EBecomes  fow ol Sy See TS
fourih limes ' (C) 4 10*sec [0y 0006 sec N
¢ The steing ofasimple pendulum should be: 6. The effect of Jaadr"ng the prongs of 2 tyning
(A aHeavy (B) Exlensible ‘l'mk‘ 'T',fi:":“ * !n;ﬂ @y Decrease \hie
(C) " Iney lensible (D) “MNore of these (A) 1?“]';":_ he._ {9 e "':l".a:ff
S " : . = '.Jrl_-'r' _"-1 N
! ;;T;:f;a :;};durum is the pendufum whose € Mantan me (D) Al of these
' gnqinal frequency
>cond 2zon : . : . _
E:".: ;:zfggﬂf gg]} EE:FDDT:;* 1. Given flor (eylindrical) metal wire, p = 1
X e = o ka/m'. diameter = 2mm, £= 32 ¢m, find oul
| An objecl undergoes SHAM. N5 maximum : n?ass' RISy Al L
speed occurs when its displacement from ~ Ay Yaram B 10 gms
(C) 100 gms (D) TR

¥

equilibrium position i5:

(&) Maumum (8) Hat o 5
maxmum value
(L} Zero (D) None
Free oscillations are always produced by.
A Anapphed force  (B)  Gravilational fore
€} Restonng force (D) [Inertiaanly

and ez

I the waves produced in 8 mIcrowave aven

then thelr

we of wave-length 12 c€m,

The wavelength of sound produced DY

open ond organ pipe in nlh mode [5:
Ay 2 (B) 2nl
n
n+d (L)
iy case, Doppler's ellect is use i
(B) Sonar

(D) Allof thee

(C} Mone of ihes

In whic
[A)
(C)

radal
To find speed of
slars
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0 A ;| 10.  Which of the following m
m"#;:n:ymzyn':::r::ﬁ;mt: ot {A)  Ulraviolel rays IE} Sound ,:;,i':
{A) Decreasas (B) Remains sama {C) Radio waves 0) Meray,
(C) Increases (D) None of these | ANSWERS -
ANSWERS T TR [CP [B [ARE
1. J[AJZ Jc]a [AJ& [C[5 |CJle. [afr |BI8 JCD |0y g‘_‘

6. 8 |7 A | &

PHYSICAL OPTICS

1. ©  Frequancy of red colour as compared (o thal
of violet caionr Is:
(A) Equal (8) Smaller
(C) Grealer {O) None ol these
2 Phase change of 180° Is equivalent fo a path
diffarence of:
(A) 2A (8) .
(C) A (D) 24
3. Condltions for Interfersnce are thal the fwo
sources should be coheran! and.
(A) Al a far off (B) Ciose logether
dislance
(C} Cainciding (0) Nene of these
d To find wavelength of light by his experiment,
Newton ulilized:
(A) Pnnciple of phase  (B) Snell's law
change
(C) Bragg'slaw (D) © Both A and C

A 9. | D |10 | C

5 Wavelength of light can be lound by means of
Michelson Interferometer using the formula:

(&) , _2m ‘o, _L
R T 2m
(C) ,.m 0 , -2l
T M
6. ‘A grating has 5000 lines per cenlimeler. Then
grating eloment will be given as:
(A) 2<10%m (B) 2x10*m
(C} 2x~10%m D) 2=104m
7. Diffraction effect is:
(A) More for 3 round (B) Mare for a sharp
edge edge
(C) Less for a shap (D) Nare of these
edge
8. In Bragg's equation, d represents:
(A) Grating etement  (B)  SHt separation
(C) Inlerplaner (0) None aof Ihese
spacing
9 X-ray diffraction has been used In studying
the:
(A) Crystalstructure  (B) Haemoglobin
(C) Couble helix (D)  Allof these
structure of DNA

10.

With age, leas! distance of dislinc) Vislgn.

{A) Increases (B) Decreages

(C) Is not atfecled (D) Mone js epe
Canwvenlionally, all the dislances P q .l‘1
measurad from ol the lens, = '

(A) Fogus (B)  Oplical cappye

(C) Edges (O] None of he,
The Image of an abject 5 mm lengih jg ,,
cm high. The magnification produe ed'by r’:ﬂn
Is:

(A) 1 (B), W2

€) 2 {0} 01

Resolving power in mih order diffraciign b
grating Is given by? '

(A .M 8 p.m
m N
(C) R=W%m (D)  Mone of thess

The “working of compound micm.scnmh
Dased on the principle of:

(A) Reflecton (B) Relraction

{C) BolhAandB (D) None of thesa
A spectrometer Is used lo study:

(A) Working of a (B) Warking u
telescope callimator

(C) Construction of (D) Spetira
turm-table and

circular scales
The magnifying power of an astronomicl!
|

: |
(A) Decreasing f, (B) Increasing f,

(C) Increasingf, (D)  None ol thess |
In Michelson's experiment, (he rolational
mirror and plane mirror were mounted on:

(A) The same  (B)  Different
mountamn mouniamns
(C) One on the (D) Noneolthese
mounlain and the
ot  on  the

grount

A material having high refractive Index has:
(A) Low density (B)  High densily
(C) Zero density (D) Mone of abave

Multi-mode slep index fibre has diameter of
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HEAT & THERMODYNAMICS

J molecules in:

(E)

[

c) 15ty <Er (0]
Numb#r of spark plugs niEc

Nane ol these

gngine Is.
(8] Four (8) Five
(C) Su (D) MNaonz ol these 7.
! No entropy change {5 associated vilh
1R} l5athermal (B) Adizbale piOCESS
[IOGESS
C) laubanc [IOGESS (D) Mone al them
! Only those proces sas are probahly fo lake
placa for Wik h entropy of the 5 pstem 8.
[A) Increacss (8) Remans e nstant
() Eeth A and B &r€ (D) Mone af above
carrert
W When heat iz added (o tha system, H.*ﬂ‘
entropy change Is
(] Posilive (B) MNegalive g,
(€} Zem (D) Mot of these

Avogadre number Is known .
: I o

a) One kg of a (8) U
i substance ]' t"lj'tl'_rtw!umu olal 2
one mole of a (D ; 1-.an.l:u:

| < cubstance (01 None of these

The nalura of thermal radiation is simifar ¢
| rlo:

ded in diesel

! Lpraviola! rays
jA) e Light ra
(© goth of them (O} Nens uli:‘h; d
| which process. the change in e
) gnergy of the systent s zero; niemnat
4 |sochonc process  (B)  Isabaric pre
= A ress 4
(€ adiabalic process (0) lE{JInE-mr:u :
5 B [HOCESS
it A is the area ol fle pisten znd Ay [s
dy s
& gstance moved by the plsten, than f::n :J::
volume 15 expressed by g
(&) _@_ﬁ_ () ay
A A 5
0 AT (D) Aay |
5 Carnat cycie is:
(a Reversibie (B)4 neverstle
() Somelimas A, D} PMione of these
sametmes B
_ ma officienEy af 3 practical heat eaglne’
{gan be Wew (B) Cannotibe 100% | 6.

o

(A) :Eg:lus-"g e @ Biiownn — __*___.—-ﬂ ,.

3 aNswers s | ANSWERS

WERS -
AR B |3 |cl& ¢ ;& g % €3 |ol& [O15
L’!ffﬂ__!'_._-u 8| B s 5t o [s Ielatclwls
o o e .._E' '
charges 1

Il the dislance befwean MWD

doubled, the force betwean thom will become:

A} Double Halt
{C Three Lmes iﬂg One foutth
El’h Umi thiied
o valun of £, In Coulomb’s law I8:
(A 9-10NwC?  (B) BES 2 1o ¢
' m
©) B85« 0 Nm (@ 80 cr N
6] Honel y
Hane of these
E]The Slunit o! constant k in Coulomb's law Is:
(&) WM g 'm?
C) C'N&m? py Nm?C

Ej Moreol thesa
Two chargas are Jn:-arod rlspﬂ-!:ll_ﬂ'ﬁ" at

positions =30j and 5 cqpi wrt
certain reference point The distance between

_ |he charges is!

&) Zzro 18) Al

[y 4l-3 (o) 12k

(E) M= ofinese
Origin & the elgctric and the gﬂﬂﬂuu-nlf
forces:

(A} Wwas knowm I 1911AD.

(B) wasknownin 1611 AD

(C) wasknown ni17T11AD

(D) isshll unxnown

(E) was knownin 1811 A D
The conczept of alectric field theory wWas
introduced by:

(A) Mcheel Faraday (8] Newaon

(C} Dallen (D) HKepler

(E) Einslen
knawn by his work on:

Michael Faraday s

(A) Nucleal strong  (B) Grayitatonsl loree
lorce

(C) Muclear weak (D) Electric lorce
lorce

(E) None of these
There are PO char
3t cortain distance
acting an each other will be:

ges of 1€ and 5uC placed
The ratio of the forces

() 15 @ 10
€y 51 oy 123
(E) Mone ol these

Eloctric fild strength Is defined as:
() Work done on ynit charge
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10.

f.

2.

12

14,

(B) Force exeried on unil charge
(C} Distance covered by unit charge
(D) Power exerted by unit charge

(E] Nune cl these
Electric intensily af a place due fo @ charged
conductor [s a,
(A)  Scalar quaniity
(8) Veclor quantily
(C} Seml-vector and semi-scalar
(D) Dimensionbess quantify
(E)] Bath (A) and (D] are
e
The Intensity af a point dua to a charge iz
inversely proportional fo:
(A) Amountofcharge (B) Sae ol the chaige
(C) Dslance between charge and the poinl
(D) Square ef ihe distance from [fe charge
(E) None ol Ihese
The Stunit of charge Is:
(Al Ampere (B) wWan
(C) Coutemb, {0) Vel
(E) Joule
The electric field lines start from.
(4) Pasitive charge (B) Negalive chlafe
(C) Eiher (A)or (B) (D) Neutron &
(E) Anatom \
Elactric lines of force:
(A) Intersezt  each (B) Are always
olhar o parallel
(C) Are avgys a0} Never Inlesent

parel’
(E] Noneollhete
lffl field force of 1N acts on.a fest charge of 1

13
pp,, then the strength.ol sloctric feld af that
paint is’

(A) TNC (8) 1 NpC

(G) 107 N (O) 108 tUC

(E) Bolh (&) and (D)
Answers

1. i}

5106

3 B

ER A

1

CURRENT ELECTRICITY'

Most practical applications of efectricity
involve

Chames in molion
Alems i matan

(E]

Charges &l resl
(0]

Electmns &l rest
Malizcules I

(A}
(C)
(E)

2

10

Tho cument that Mows through (hy ,w

malor causes:
(A) N5 shafl lorevolve  (B) Its
rolaly )
(C) Mater to move (C) 5 shah gy
(E) Nont of these "y
St unit of current dascribes the flow o
at the rato of H‘ﬁ';q
(A)  One pmpere per secund
(@) One coulomb per second
(C}) One eleclon par second
(0} 625« 10" eleclions per secong
(E} Bolh (8) and (D)
In ease of melallic conduclors, the cha
carriers are’ "
(A} Fmlons
(C} Antiprolons
(E) Balh (A} and (B)
The chargoe careiors (Man efectrolyte ary;
(A) Posilive ons 8) Negalive jope
(C) Euner(Alor(@) (D) BothiAjand g
(E) Meiherfdlnor(B) '
In gasds, he charge carriers are:
(&) =ieclions (B) Postve one
(C) “MHegalva ions (D) Bath (A) ang oy

(B)
1©)

Electins
Posilions

“VIE) Both (A) and (B)

The canvenlional current is the name gives fe
current due o Now of
(&) Positrans
(C) Negalive charges
(E) None ol these
A currenl of 1 ampere is passing through 1
conduclor. The charge passing through it «

hall a minule is.

()
(0)

FPasifive chargeg
Bolhy (A1 and (£

(A) Onz Couomb (8) 0% Coulormb
(C) 20 Coulombs (0) 2Coulambs
(C) Nane of these

Tha positive charge moving in ono direction
I vqulvalont o all axternal affects taa
the  ¢5m#

(A)  Megales  charge moving
il lin

(Dj i Usitive CHame  movig e e opposte

| [

() H---_ palive chame movien o the  oppst
it ban

(L) Postve charge moving i the samms diecin

(£} Noae ol thesas

Ina meta! the valence elactrons are
(&)  Anached boindts 3y 2t mr
(B) Mt ansched o indiiu il atoms

(€)  Free 1o move witlin Hie matal
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ﬂﬂ"
© poth (A) and (C} 171
~ goth (B} and {(C)
rhe free aloctrons in metals: (8) The lines of larce are ellipi=a
L pre In random muﬂm'am (C) Dir==*ion ol hnes o force depends upon
depends upcn lemperalure heir speed _ awcryon of current
g Move in @ particular dinsetio (D wath (A) and (C)
(ﬂ] nove with speed af light . S {"}  KE\of these y
(4! pgove such thal thelr speed doas ' A currant carrying conductor suts up IS sl
(o) ypon lemperalure. Uoes niot depeny (Al Electik field (B) Muclear field
g None ol lhese i% F;:;neb: field {D) Alolthese
{ ' Sath (A) and (C)
2 Eiu':;";; ::i;’;n”:; :l"ﬂ eleckrons pasy . "‘ Is customary fo reprasent a current flowing
right e left is: metallic wire from iA)ow;-T’ Dl .igmttf'::
Greater \han the speed ! oy g
'M {rom left lo naht o Which they pass ({E: til'l @ O
than the speed al whi 5. T tion serent carrying
{8) Less which they pa he direction of Jorce an a current €
,::_ 1o ;:21“ o Y Pass from conduclor placed In a magnelic field is that
(GI =83 w BY pass lrom ek o1 of:
o) Any ol above onght ~ Length ol _ a
{t. Monz of Lhese (A} anductor (B) Magnetic fe
i/ the ends of a wire are connact (€] LxD © L.B
3 panery, an electric field E will be st u:d,,!.n # (E). None al these
(&) The ends of the wire only 6. The pointer of a magnetic comp ass:
(8) Mid paint of the wire only (A) |5 aftected onlyby permanent magnets _
() Every pomnt within the wire (B) Aligns jtself parallel O the applied magnelc
At nodes only fig'd;
None of these (C) \Witrales in the magnetic ficld of the current
The magnitude of drift velacity is of the order (D) “Algns iiseil perpendicular 19 the magneuc
of field
) 1“1‘;1_5"1'_ (B} 107 ms™ (E) Both (C) and (0)
10" ms™ (0) 10me 7. Magnelic field is a: '
2] Wonz of these ] (A) Veclorquaniy  (B) Scalarauarty
i — (C) Scalar 25 well as (D) Neither (A ner (B)
Answers yector quantty
— = (E) Anyof(~)or (8)
o /0 R E 4 5 8. The direction of magnetic lines of forco
6, E |7 a | 8. *C_ll around a current carrying wire is given by:
10. E | 1. A |12 C (A) Faraday'slaw (B) rHeadlo \ail rule
fa__| B | (€) Rghthandnie  (0) Both(A)end(B)
— . M (E) Noneal Ihese
_ ELECTRDMAGNEHSM 9. If @ copper rod carries a direcl current, the
When some compass neadles are placed on 3 magnetic lield assoclated with the currenl will
card paard along 2 circle witn the cenfre at be:
fhe wire, they will: (&) Only nside he (B) Only outsice the
{4)  Paintin the direction of M-S rod od
|E-,:\ Eep \remselyes tangential to the circle (C) Bothnside and outside he od
(C; Paintin the direclion ol E-W (D) Nedher insid2 nor outside \he rod
IE'} Point in (he dwection of S-E (E) None of these
(EIJ‘ None of these 10, The farce on 2 current carrying conductor |
n i . = . :
mrT-e region surrounding 2 currenl carrying length L placed in a magnetic field
m s depends upan:
Al A magnelic field 1s sel up (A) Angle bebween L and B
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f1.

12,

13.

4.

15

16.

17.
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——

(8) Cunent passing through the eanductcr
(€} Length and magnebz field

(B)  Batn (A) ard (G) anly

(E) Allglihese

Magnelic lines of force: :
(A] Cannol lorsee! (B) Intersect alinfinity
al all
(C) Intorsacl  withn
magnet
(D) Intzrsect &l nealral
peints
(E) More ol Inese
The strength of magnetic field around &

straigh! conduclor.
(B) |5 same cuery whete atound Ine canductar
(B) Obeys nserse square liw
(€ s dircetly prepanional 1o the sgquawe o
distance fram 14 cm:scta\
(D) Allare true
(E) None of these
A curront is passed through a straight wire
The magnaetic fiold estanlished around it has
its lines of force;

(A) Cicular and (B) Ovdnshepeand
entless erfess
(C) Straght (0) Pzmbale

(B} Alare (e _'

I curren! camying conductor s placoed
perpendicular ta the magnete field, it will
grperience a furco :
[&) Zemo Y IR cos
{C) I8 O P (D) Bafh(k) et ]e)
(E) Both (@)an(C)}
Theg@uaétion of force experiinted by a

wcumredll “Carrying conduefar placed in 2
‘magnelic field B 15 found by
(AW Dol product al 1o grd i
(B) “Cross producteh I and R
(C) Righlhant ik
(D) Samh (8] ard (0
(E] 8o (&) and (C)
W A s vector area and I 15 the magnulic
fietd, the magnetic fius Iy mathpmalically
defined as
(&) N It B £ .
) & A (01 Bath(A):
(E)  Bath (&) ant (C)
Veclor area I i5 a vecfor whaose ditogtion:
{!‘».I 15 Ao N sulane eleanen)
(B} Pemendicula o surfare slomal
(L) Al anange B0 1o thie sinfice o bomenl
g[}] D!;‘;’:HI'IIL'. LA the ditvedonnl g [t fielid

it ()

18

18

0,

I
() Neone of these N

If the figld is directed along the "“""ﬂilh

area, thon flux is:
(A} Marmum (B) Equaltog,,
(C) EaualloBA O Mt
(E] Batn (#) ant (C) .
The unil of magnetic induction g |5
() Weber (B) Webm~
(C) HNewtonfamp O Mewlonmay,
metre
[E) HNone of these
Magnetic inductian is defined as fiyy pey
area ol the surface which is: ay

) Ph u8 1
(B) ‘g Perdey

(A] Parallello i

) ;g,_._an angle EP 1o

(O} Anyoltgeg

LY

N>The current produced by moving 3 loog «

Wire across # magnetic fisldis called

(ﬁt| Cltect cunenl {BJ b-'-—%’;ré{!{, tura
C) Angmatngewmeat (D) Induced ourmsny
(£) Nens ol thess

Anemfis setup in @ conductor when it
(&) Is weplina magnene fisld
(3) s weptin an electne figld

(C] Meoves aumss a magnene field
(D) Botn (&) and (B)
(E) Nenz of these
Aninduced current can be produced by
(&)  Constant o el figld
M::.J "TP ar *‘Im_.f riggradie ‘_-‘_—].‘j
r-..l3 .i.-ry ||,—'"_'l_". r_f.'J
(D] Camntant tiestric fighs
(€} None gl |heze
[he phenomenon of generation of induted
emi s callsy
(%) Elsctrostate (E}
¥ Juthian
(L Electomagnens
B TS (el ]y
W) Elactnie nduction (E) Balh (&) and (O]
The induced current in a conductor depends
upan,
{ﬁll- f"‘:ilﬁf'mtf; i3l the I\u@-p

i b
Maghete

nduchon



ol

i(;} Any of IFese e conduelos may e
g Bolb m? and {8) i —_—————
(E] None of these © tislzne Rotaiod .
The induced current fy y I:fj Thv. ceal Is nather distodted ror rolaied
'"""‘j’?’“_' oy the loop cap g | 1 ‘ {._ WAy und By (B} Mone of thest
m Mi:i?md!mmmm“ﬂ“ﬁlthem e 'der the circull shown In Fig if the
gl Moving the foap fastar witeh ol tha coll P Is suddonly closed:
[C] R-Epldth"lj the IUOF by 3 cail
() All abave ot many gy
(E} goth (A) and (B)
In magnel-coll  exparim
produced by’ AL om! can by
(] peeping the coll stalo
magnel A 3 maving e
© e el =t Salimnany and maing (A} A ramenlany cuttent is induced in e coft S
1cl Rolatve motan ol the | | (8) Galvanomelef nuedie sutidenty dell=cls but
2 ikt e "E loop and mogney 4o nrl tetum ko re10.
(0) AM cne of above : (C R e
(E! All above ) Galvanaimelar,roctie syddenty deflects ant
el T LT '
&.Mh":wi‘:r::fy and Joseph Menry belgn (©) BamiA) andil)
i ’f .,_l__; Enaland - (E) Galanumelss nestlie remans unatiected. -.
["1| Ll g i [B, Enuhr,d s fd nefprrln_;} Io alhave ngl-lﬂ!. curren! in the :a!! P,.v |
e Frasce grows from zero (0I5 marimum varu::‘;.,-’u_ Yy
(Cl gpgland and USA (D) USA and France (A) At the (nstant the saitch is ciosed
[y Hone c_! these m%f. Althe nstant irip switch 1s opaped —
The magnitude of induced emf depands upon LJCTR When swalch s yeptopens .
e (D) Allolatove %)
(8] Rale of decrease ol magnetic figld ) & Nelinoe of abade) *
g Fa' ol channe of magnel fizld S Referring 4o abave figure, current in coil P
{€l Fata ol inateasa S magnate fluxy ] falls I{_ﬂ’ij[l,_iﬁ"marimum value (o rero:
(0] Censtansy of maznelis figid . AM0Adhe nstant the swichis tlased
\£] Mane ol th=se’ "k (&; Wit the imstant e seileh s opened
When (nere s acrelahve mofion between the (C)  When swich i kept epen
mgﬂemm*@;{{ (he Galvanameler indicatas; (D) \When swilch s kept clused
L Elmeplie < circutl - [E} Hone ol inese
l% b e sing curent 16. Peferring (o above fgure, due (v change In
(cl ,_;@‘g._._;r:;amm, cutrent currant in the coil F, the change in magnelic
o A ennstant corent flux
£ Edher(B)or e (A) Ieasseciated waih cail P
instead af mMo¥Iag the cail towards a magnel, “:’.J I'!f a:"f}"lfmd:‘ l‘n eols te el 8
te magnelus moved towards tho coil with (he i S s aiuoed RN O3
ame speed.  The galvanomoler  shows (0) Alalinese
current (] Hone ol hese
81 (Of sgrme magnitude i Ihe Same dhrelion % p""""”,””ﬁ to above figure. 2 changing current
El ];l 1|H"‘_'r:"".' "“?ijr.‘lT-l_,,ﬂ i Ph?- & Inf d““. Vi I“' er!, r can b‘.‘ [‘:OdUCEd s
Oy Ol zame rﬁ:t-:rlh,"-" bty '?'F-'V'-""r"' dineaton [I';! .Fj.l lln-.. I .’.u. || \.'...l_h b r.s,n_‘?-rjd
0] Of different magniuge the opFosID {Ffﬂ' At o gitan the swich 16 0PRnes
firechan () WAl the hein of hecstal
Ey  Mars of these (0] Aloiihese
A coil of constant area js placed In a constanl (£) .'h: p o ThOsE y ;
maﬂﬂ!’ﬂ'ﬂ field  An Induced current s 18 fn proer thatl 'no eml -..hcuf. bf‘ lﬂuu-;ﬂd ina
produced in tle coil when fat Iogp of wire placed in 2 changing
{4} The cail s (B The Tl [ magnelic field, the anale hetween g and
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19.

20,

44 should be:
(A) O
(C) o0
(E) 180
The unit of Induced em/ 11
(A) Vol (B) Nmhs
(C) Joule coul™ (0] Both(A) and (€)
(Elzaﬁlr:.[m?ng. whaore the coll is plaged In
the magnotic fleld ol an vlectromagnel The
magnatic Mux through the coll Is changed by!
Electromazne!

(B) 45
() 13% -

Keeping both the coll and the eleclromagnet 1
staonary

By passing a constant cumrenl Lhratighthe
eleclromaqnel

By changing the curent pacsing Yrough the
electromagnel
Both (A} and (8)
Both (4) and (€}

.Ifl_.

| | LS
=i |

=
ﬁ!mbm(‘
Moo | meD
ﬁD:D'D(‘)I

(A)
(C) Avuery low cosl
(E)

(A)
(C)

{6}
(E)

3

ALTERNATING CURRENT
Altarnating curment can be transmiffod
Tolongdistance  (B) Al very high cost
(D) Both (A) and (C)

Bam (A) and (A)

Alternating currant is protliced by a vollage
source which polarity:

Famams Ihe Heverus
c3ma pencd T
Keeps on raversing with lime
Reverses ater every ime mterval T1?
Bath (C) and (D)

(8) afler

Nowadays, mosl of the electrical energy is

10

1.

produced by A.C. generalors usipg.

(A) Mydal waler (8) Geotren,

I!rl!l‘i“
(€] Solar energy (0) Biomas,
(E) Bath (B)and (D)

The time Inferval during which g

sourco changes lis polarity once iy ln;:b"
(A} Tmeperod T (B) Halt "
petog
(Gl Quatr tho bime
period
(0} «Twa third of the (E) Narie of
lime perod
m‘ mnﬂ' commaon source gf illllfmﬂ
voltage is: - !i
Py e (B) Transtingy,
(C) ACgeneralor (D) Bala)any,

(E) Bolh(A)and (B)
The oulpul V of an A.C. generatyy 4
instant Is given by: Y

(A) &

V= Ve sipgt’ (8) V=V-,5m-i»7

€) v W sn
(E)._ Heih (A) and (B)
: 2
Using 0= ek and w = -]g the angla trggs

(0) Botn (4} ara [

which tha coll af A C. generalor rolifes, why

I*}Js
(A) 2em0 (B) wmp
(C) = @) w2
(E) 2=

Using V=V, sin ad and w= 22T, the valy »
alternating voltage Vwhen 1= T4 I3
(A) (8) -V,
(C) V=0 (D) Both4) znd (8
(E) Bolh (A) and (C)
The wave form ol alterpating voltaga Is b
graph betwoen:
(A Vollige dlong x-axs and lime alang y-ass
(B)  Cuorrent and tme
(C)  Valiage along y-ans and time along v-axs
() Vellage and cliren)
(E)  Eiher [B) ar (D)
The wavelorm of alternating valtago is

(A} Snuare (B) Reclangulr
(C)  Sawinnath (0)  Sinuscidal
(E}  Nonw of these

The instantaneous value of voltags or cumy
can have any value betwoon:
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M
Posilive maximum valye + -

{1

ft

A}
: maxmh taiie -y o Pegitve currant may be:
e F‘Uﬁlh;idma.,m_l:lm value +V, ang 1600 (A) The 53:1{2 ;s fts AMS valug
() Zere and hegalive maximum valug _y Bi Grealer han s RMS value
() AnY ol these =Y C} The same as 5 poak value
() Nane of (hese Eg ﬁr;y nnlhgg-_
entire wavofo _ ne of these
;':;L sty aweTol ! :’:;1 :‘l! sinusoidal voltage 1 0. The RMS valus of alternating valtage 12
(A) Averdge values which enist dun E gggmm E;:l: ::ﬁ:
m| I " a pensd E IL}:.? l.'mlws {re inslantanugus value
Inslantanecus values _ Cqual to maxanum voliogo
(el AT B6 whlch exist during 5 E{ None of uﬁé :
Peak-lo-peak values .
Eg% RMS values Aﬂ§W3r5
gy None of these 1 = = i 7
[ RMS value of vollaga Is; 3 2 :— E |E’; ‘L ST a
(. ®) V. 5. | ¢ [0 [ b [ | A 11z 8_
\J2 2 13 [ A [1a 1_c |15 | O 116= o
€ 141V @ o5y 7 8 (8 | A |19 | C A2 A
Eiher (8) o (D) ’ |
rhe highest value reached by the voltage or PHYSICS OF SOLIDS
eufrent , _ _Crystalline sclids ace in-the form ol
(A In quarter cycle is called instanlaneous value (A)  Metals (B) lonic Compounds
(8 In hatl cycle is called peak-lo-peak value (C) Ceramics (0) goth (A) and (B)
(] Inone gyele 15 called peak valye (E) Al olthese
oy In hall cycle is calied inslantanzous yzlug 2 The s‘cnuﬁ are classified as:
(E) lione of these (™), setals (8) Crystaline
The sum of pasitive and negative peak values (C)’ Amarphous (D) Polymenic
fi.e. p-P value) is called: (E) AllexceptA
(1) Inslantanecus (8) Peak value 3. Zirconia is classified as:
value (A} Ceramic sold (B) lomc Compound
() RMS valus () Peak-to-pask (Cy Metal (D) Either (A) of (8)
valus (E) Eiher (B)or (C)
(EJNane ol thess 4. Each alom in a melal crystal vibratss about @
f*ﬁp’j-pmk-m-peak value of alternzting volfage flxed point with an amplitude that:
is: (A} Decreasesvath nse in lemperalure
() 2% B Ve (B) Is not atiected by ase in lemparature
€) Vo (D) 4V (C) Increases with rise in lemparaiure
2 (D) Bath (B) and (C)
(£) Mone ol Ihese () MNone of iness
The average value of alternating vollage over 3. Tha transition from solid to liquid Is actually
complete cycle IS from:
(A) 07V (8) Zem (A) Order to disomder (8) Disarderto arder
i€y 0707 Vs (D) 1414 Viw (C) Order lo order (D) Disorder s]
(£} Ether () or (C) disorder
Peak value of alternating curtent Is: (E) Hone of hese
() e f as inslantaneous values 6. The transition from solid state to liquld state
il Equal 1 ils RMS value Is:
2l The zemf a5.ils peak-1o-peak value (A)  Abrupl (B) Slow
:f; ;{f (B} ﬂf-_lfl-f'l (€) (C) Continucus (D) Discontinuous
U-”.E nne ol these | {E] Halh Li‘l, and [D]
] S 5
mstantaneous value of altarnating | 7. The lorce which malntains the strict long
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1

12

11.

14,

15

16,
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range ordar between aloms of a crystalline
solid is the;
(&) Huclear force (B) Cohesive force
(C) Adheswe force (D) Coulomb lorce
(E) None of Ihese
The word amorphous means:
(A) Wikout  any (B) Wilh
structure Struclure
(C) Regular (D) Both{E) and ()
amangemen! ol
molecules:
(E) Mone ol lhese
Amorphous solids:
(4)  Have definite meling poml
(B) Are called glassy salids
(C) Have no definite melting point
(D) Bolh(B) and (C)
(E) Both{A) and (C)
An ordinary glass gradually softens info &
‘paste-like’ stale before {1 becomes a very
viscous liquid Il happens almostat
(&) BO(C (B) -505<C
(C) 300+C {B) 100C
(E}) Mone of these
The patfern of a cryslalline solid Iz
(A) Onedimenmonal  (E)
(C) Three dmensianal (0]
(E) None gl these
In a cubic crystal, all the sides maﬂui"

Cefinte

nr:ruq gt tﬂh

(A) GOy (B] 0= ®
() 109 g&u A
(£} e

The arrangement nr‘wrerulss or alomsdin
crvﬂah‘!nq;ghld?ﬂn be studied by v§ing"

(A) @.ﬁemh::ﬁr (B} Meutnens
S
(C) X« 1echn:r:iues (D) “Copper atoms

(E) Eolh (&) and (B)
A unil cell is theesmallest basic struclure
which is: '
(&) Onedimenwonal ()
(C) Three dimensional (D)
(E) None of these
Tick the one which is not a crystalline solid:

Two dmensicnal
Four duren NG

[A) Zircoma (B) Glass
(C) Copper (D) Ceranmic soid
(E) An i

crmpannd

The temperature at which the vibrations
become so greal that structuce of he crystal
breaks up, 15 called

(A) Crilical (B)  Temperature of

T.Jdrr““l"lf‘-nf |

18

]

s

17.

19,

lomptalure

h
e

(Cy Meturg paint 10} Bath
'E; e .m:i r-nr' 8) u‘h&qz
The whole struetur:  chlaingg II;
repetitian of unit cens is rllad, ()
Al Crysta latuce {8 A .
:'C; f’c-:}lmf:'ﬂl: salid L) Pm%
(£} Honeal these
The pattern of NaCl particles h3,. 1y
which 5.
(A} Cubie (B} Body s
Cuie T
€ ‘Sanple cubic (O] Fatecen
[E) Eathi&)and(C) L
Iny eggrah‘:nﬂ solids aloms are el
mair guilibrium. positions dl'.ﬂ!ﬂdmnaw
mrw«- 1th of
() Tagnss8 nrmes {E) Nuclear !ffbk
() Iniee deme (D) Bleciy
=eg e lorcs fﬁm L e
(= hone a'hese
TheiEmalizst | thregy ndhmnsaona! b
structure s called
W) coattm Y (8) Unit et
(0} Cryzts *i- © {0} Polymar

'\_-_ e _’:.\j:‘-‘ ‘-

Computer Chins are made trom
£) ! (By ‘Sibcon
(5] Hedion (U] Suomhym
) Ruminium

Silizon i3 one of the most commonly us
(4) Corducia (B) Disesing
(G Insyiatse (D) Temuconducs
(£) Bunisyand ()

The huga advances in eloctronics ove ¥
recenipast are due to dr'.sc-a;-u.r}*mjuﬂn-'

() Condu b () Insulatons
(L) semicondutlars (2) Iron
(£)  Hazuy water

Thio use of chips in eloctrons is descrbel’
the form of

(A)  Yelow boxes (B Blach bowes
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L A

~- /RS N R Ce
e e

) Red boxes |
ﬁsr Crange boees (O} White boxes
Crysta of gormaniu
3 form 8t absolute um":,_.: 3{"‘

(A) A canducior (B) £

on In lts pure

[:) An Insulalor D uttor
EE} goth (A) and (B) (D)  Both {A} and (C)
At room lemperature, ¢ ,
b in its pure form, actas: fystal of garmanium,
A conduclor

An insutator o _
! None of these (D)  Eolh (4) and ()
aromic numbar of germaniu
; pumber of valenco -ll::::;T ;ium and
raspuﬂiufy: N are
(&) Jz.4 €] 4.3
] 14,4 (D
PR ) 22,3

1=
Al the valence electrons pres
] nrs;!ﬁcon:mhou_nmn thelr w:;": ::;r. crystal
(o i.r;nl:cbfn;io q (8) Counlent bond
[C]i.u_n (0) Bath (A):
() Both(B)and (C] [4) and (B)
an outer mos! orbil represents stable

5 configuration if it possesses:
a) 4 electons (B) B electrons
12 plectrans (0) 16 electrons

(g) No glpclran
o A p-type erystalis:
(4] Neutral as @ (B)
whole
(C) Fure erystal
g)  Postvely charged
Majority charg® carrlers in the p-reglon of p-n
junglion ares
(A) Electmns
(C) Hales
(E) MNome of these
p  Whenevera covalent bond breaks, if creales:
() A0 glection (B) A hele
() An eleclion-hole (D) A posilron
palr
(E} Allof these
. The impurity in the germanium Is usually in
the ratio of.
Ay 1 (B)
() 1 107 o) 1
(] HNone of thase
t  When phosphorus Is addod as an Impurity In
germanium, there Is an ncrease in:
(A} Free electrons in (8] Holes in Ge
Gn

impurity  agded
crystal
(D). Both (A)and (8)

i

(8) FPosirons
(D)  Newbons

;108
1015

13

{C} Positions In Ge
(E) Balh(B)and (C)

(4) Trvalenl impunty
(C) Penlavalen!

oy Bath (304 (&)

A hole In p-lyps may be dup lo:
(8) Breaking 0! S0

covatent
(D) Germanium

impunty
(E) “Efher(A)cr (E)

13—

ANSWERS
2

g
12. s

O |mm

10.

ool Oim

D
6 B
A
A

o
mo=lo

&

6.

|

DAWN OF MODERN PHYSICS
The concepl of direction 15 purely-

{A) Absolute By Relalv®
(C) Relative to st (D) Reite ©
always awas
(E) Mannof these
All molians arp:

(A) Relatye 10 a

persgn

e SN

(8) pelyive 10 the
instrumant
obsening

(C), Absclute (©) Bt and (2)

(E) Hore of these

A body al rest remzins al restunless: 3

(&) A balanced larce pduces mation in it

(B) Anunbalanes? force oroduces acceleraban i
i\

(G} An unbalanced
accelerabon m il )

(D) A balanced {orce produces ~ccelerabon in it

(E) Hone of Inese

Strictly spaaking, the earth Is:

(B) An accolerated frame ol relarence

(B) A mnon-nertial frame ol relererce

(Cy Aninertal frame of referencs

(D) Ano r-arcalerated frame of relerence

(E) Both(#)and (B)

The speclal theory of
problems Invalving

(A)  Inerial lrames ol referance

(8) Moninerial frames

(C) Mon arcelerated frames

(0) Bath (A) and (C}

(E] Holh(B) and (C)
The guoneral theary of relativity lreals the
problems inveolving frames ol relerence which

are.
(A) Inertial
(B) Accelerating vath respec! to one another

force  does N9 produce

rolatively (reals the
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As compared 10 the distance measureg =

Dogar's Unigue AFNS Guld

10.

11,

12

1

14

13

(C) Acceloraling wilh respect 193 panicular slar

(D) Maving will unifarm vetocity

(E) None of Ihese
The special theory of rolativity I based on:
(A) Four postulales Three posiulales
(C) Two poslulates (o) One pasiulate
(E) Mene of Lheso
There Is no way fo defecl.
{A) Absolute uniform Ascelerated
matian malion |
(C) Sfate ol rest (0) State ol motion
(E}  None of Ihese
Time: '
(A) s an absolute (B) Is mlatiye
quantity
(C) Depends  upon (D) Al above
mation of frame of
relerence
(E) Nane of these
The symbol fo be used In relativity problems
denofes:
(4 Dilsed tme (B) Proper time
(C) Life time (0) Halflife
(E} Neone of these

O
Practically the quanlity _is elways:

/4] Less thanons (B) Equalloon2 a8 &
) Graerhanang (O] All ol thesey
(E) Hone ol Ihese : >

Tick the correct sfatement:
(A1 L 15 always fess, Bpm. IS always
fhanl @ o grealerihanm
©) k1 dideslest (D) Eolh(A) and ()

o AL

1€l EctBlE] and (C)
Due to relative molion of ‘observer and the
fraimia ol reference ol ayenis, ime always:

A} Dilates irsedl (B) Contracts itsell
(G} Stelehes s (D) Both (A) and (C)
‘El  Neoreallnese "

The dilation of time applies to the Hming

processes which are:

(8) Chemical

(A)  Physcal
(C) Gtagical (@) Allolthess
(£)  Maneal these

Aging process of the human tiody

(A) BECOMES S b bry mabon at very High speed
() Becomes 'ast al vary high speet
(C) 15 nol altected when S speell hecomes

x'remely larte
[1) Al of these. are e

(E) Mo s ltug

16.

17

| 18

19.

A0\, b (13
J .. . "-EIB

observer o Earth, the distance fom g, T4
2 star measured by an observer In 4 ;m, N

spaceship would seem.

(‘ﬂt’]l’J Smaller (B) Larger

(C} Same {D) MUEM@,%

(E) Nonz ol these _

Mass of an object’

(Ay s 2 varying
quantity

(BJ Ue'pendﬁ u:':,i
he specd o
ohjer!

(0} Al abaye

indicates |3
inertin
(£) None o these
" Earth's orbital speed is:
(4 3oms (B8] 30 kms
(C) 3w i0ims’ (D) Both (&) ang
(E) Bothi8)and (C)

Tick the corract relativistic equation’s;

" || 1 = v_z taj ‘.’J = "0 L.

1C]|

{B) TR thes

() Both(B)& (T

The ratio g“‘goad of light o the orbilsl spen

of Earthiyss, ™ ’
(A) ¢ 1G5 (8) 1
{0y 108

108 kms™!

ANSWERS

_ 3. | E
‘6 7

[
s 5 4 jl o)

5.

8
C
11 A
"'5‘
D

| 19.

1.

OMICSE! _
The first series which was identified in e
speclrum of hydrogén is called,
(A} Lyman senes (6] Balmar senes
(E} Paschen seres (0) Brachen senzs
(E) Plund senes
Balmar seres was identified in

;? J n".ﬁf-l (8) 1785
?f | :Fp (D) 1985
E} 1585

Afoms of hydrogen gas can he excited by
passing electric current through it when b2
gas Is filled into the discharge ftube a1
pressure which js:
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gss than aimosphenc pressurm

quch less than nimospheric pressure
ter han atmaosphernc prussung

uch greater than almasphenc presgure

(0) goin (C) and (O}

' mer sanies fies In that region of
H;p#ﬁ"’ mﬂﬁﬁc wave Spectrum which (g

(B}
{0)

lied”
( ﬂf visibi?

o
:ﬂ' Nanﬁum arrangemant ol colours In the
8 { white light spectrum Is:

ROYBGIV
(0)

BIGROYV
fengths of colours In the

Invisible region
Uliravialel mﬂiﬂﬂ

1_63 nore of thiase
(E] rango of wave
ja colours Is:

visih 5 g) 10 nm to 56 im
pasenm | _
(A :13 ﬂ 1 656 nmM (o) 910 nm 1o 956 nm
“:} o D!“mse.' (atemenk:
_+ the (ncorrect s P e
m"ﬁm: .087 ~ 10' h=662x= 107
.lﬂ.] ts ’ Js
el :_, - pSE nm (0) Pt = 700 nm
I. ’“:434 4 Balmer
“rhe results of spectra obtained by B3
essedin 1536 by |
iy 8 Rydvera
o) Flonch D)  Rulkierford
= !jl..llﬂf”b \ /
E;'mcpracess ol fermation of spectrum 5
called, i £
2} [nisHerence (B) Speclroscapy
i) Disgersion (D) Refiechion
| EolirfA)and (O} -
The value of Rydberg’s cunstani is: -
'l 1gg7e e 10k B 10974 x 107 m™
() 10874 10t (D) 10274 = 1012
e cm”!
) Mane of these
Spectrum  represents  the  number ol
component calours present in certain light in
ferms of.
(A Waselength (B) Frequenty
G Energy (D) Both (&) and (B]

& Allol these

Tich the serles which lles In the visible
1e3100

¥ Lyman senes
() Paschen seres
€] Plund senes

Balmer senes
BJJV L !_'ll GENES

(E)
()

kt

A79
1. Tick the serfes which lieis In the Infraed
reglan:
(A)  Plund serics (B) Brachwll 52163
C) Paschen seies (D) Aol ihestt
va (E)  Mane ol ihess _ d
: The speciral series found In the Infrare
reglon is/are:
(A}  Paschen geries (B) Brachell seres
(C)  Plund nenes (D) Sotn (A) and 18)
1s CEI Mn”]’lﬁﬁ!
: Lyman series in the spectrum of hydrogen
[RTrim In the;
inla-ed region (B) Vismbie r2gion
(€} Ultravicial reuon tDJJ Bolr (A} and (B)
(E) Hone of these
— ANSWERS
1 B 2 CL 13 !
5. | a6 [ ¢ 1 ]
T K |
113, | D |14 | E W | o] oW
UNUCLEAR PHYSICS: |
1. _I":Wt.rnn was suggesled o be in the nucleus
by
(A} Rutherlord m - |E] Bohrin 1913
1920
(C) Dirauin \82¢ (0} Anderson in 1932
(E) _Moce ol these
- Neulron was discavered by
(AY" Rulhertord in (B) Chadwickin 19212
1920
(C) Bohrn 1913 (D} Comptonim 1927
| (E) Mone ol \hese
3. The ratio of the radil of an atam and |Is
nucleus is roughty equal to:
(k) 10" cm 8y
(C) 10°m (O) 107 m
(E) 107 mm
4 Nucleon means
(&) Only elections (8} Oniy neutrans
(C) Crily protons (D) Bath (k) and (C)
(E) Ecih(B) and (C)
5. Charge and mass of a prolan are
respechvely.
(&) zero, 1873 (B) 1673 .10
10 ¥ hny coul
16« 107" kg
(C) 16=10"cou, (D) @1.107"hg,
1673 10 " kg 1.67 « 107 caul
(E) 1.67 » 107V coul, 16 » 107" ky
6. fass of neutron is exactly,
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answer and \n

F D VEn =
,In—"ﬁo’:l—j&i%‘_uw ED TEST NO. 2
Producers are- answers.
| {3 Fiomoautalrophs Photoautolrophs

Heterotrophs ﬁ!

prosera Inlermedia ts an exam ) Saprotrophs
il {a{ Saprolreph Ple of: e
cl Parasite Symbilonl
preathing Is also known 3s: d Insectivare
e & Exonarn 6 Celuiarrespirato
it has been estimated that Su?*";“ idll Intemal respiratan . the
of total surface area provided by rools, = is provided by

) oot hairs.

a} 50%
c : ??% m 60%
ement present in most ab _ _ 76%
m El ia} Elaémn undance In human body |s: . ‘ ioas
(9 o
carbohydrates ma‘;- E?,fiﬂme with proteln t id‘ Silicon
f¢l (a Peplidoglycan In to form _
}I: Glycopratein 'g Glycopeplides
Wwhich © the following characlers |s not true abost Enwme(j?whmds

vil) a8 Globular in shape .
lch hhe f upmitemus' i'Elnamm' Eb“ a?;‘;iﬂ%‘” s |
which o ollowing combinatlon | : : c ynd lant cells
(vifl NOT in animal cells? s Includes three structures all of which are found in p

a3 Cellulose cell wall chiaroplas!, cell membrang.

b Cellulose cell wall, ehlg -
c Cellulose cell wall, nm|?up;?gp53§¢v§£m.e
d) Chioroplasl, cell membrane, nucleus;
| Which is NOT a disease of vinuses?

fi a) Polio (b Anthrax
) Measles _. (d Hepatitis

’ Which of the following Is not involved in motility?

[ 3) Pl e
5 -Clll_a 4 Fimbriac

which of the following are the characteristics of living organisms?

1) a)  Highly arganized, complex enlities
b)  Composed of one of mare cells
¢) CangrowinSsize
id} All of the above
yi)  Which of the fellowing processes can be described in biochemical terms?
(a)  Pholosynthesis ib) Respiration
(c) Digestion d)  Allof these
If the co-faclor Is loosely attached to the protein part, it is known as.

(a) Coenzyme b)  Aposnzyme
(c) Heloenzyme dl  None of the above

4 . Micrographia was published by:
Robert Brown ‘

a) Rober Hooke b)
¢) T.Schwann d) M. Schleiden

)

m  Carlous Linnasus was:
(a) English (b)  Swedish
(c) French (d)  Nahan

M Who called small creatures as ‘Animalcules'?
{8  Rober Hooke (b)  Rober Koch
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()  Anlone Yan Leeuwanhock plasmodium
(xvli) Enmph of Aplcomplexans Is: Eb} Nnonba
Trypansoma
Slenler

i e tel ruent mostl goth | retion
i) !y:apn;; ns “E IF.; iernpabiizter E’ E Cellular 58€
d-::‘ Tissrue secretm;\m Glyee xi
fidi ste of enzymes
iil)  Thebu EElng un Fao %zggd E 3{:2,: :;.ld - lf_': ﬁr?;hhtllafni
¢ o @s of € tist de-Lama
iv)  “Allliving beings orlg!nala from or consist of wzsll:lb Jean E i |
" a Robert Hooke -:I; La'ﬁ:e-s although they do not Conty
c Robert Brown 1ake place in virus n Y
v) Reshuffling of the herti;able material can ! Cymp e
structure equivalent to the:
3 s 3 e
[# m
Division of cocel in random plane results In: Telrad
2 a)  Sareina 15} Staphylococeus
c Streplococcus iag
di}  Example of actinopods Is: Radio e
(3) Trypanosoma d) Plasm
(c) Forams it
i)  Saprobes are: {bl Mutua
(a) Predalors (d) Parasiles
(c) Saptrolrophs lant?
)  Which of the following is a hemosporous p b) | ycopodium
(a) Selagmelia 0) Rose
(C) Pinus Caom: |
) The simplest animals belongs to 5u ngdom: 8) parifera
(A} :13"'3355‘ D) Eumelazli?ﬂ
{CJ elgzod 'l ivin nganisms‘
' following is not the characteristic of living
! W?:):h y gcentam genegm programme of their characlenslics.
(b)  Cannol acquire and cannol use energy. .
Ec} Maintain a (airly consl?nl Ilntfhmal eerjm:ér?nmen
d Produce offspring similar lo thems | )
i) lmpcjlrtanl organic compounds in living ofganlsmri b;i)re Elpﬁfﬂ?gfns
(a) Earguhydrates 4 Sals
€} i ' - | ich coenzymes are made?
i) wrfigh of the followings represents the essential ra’l::a mag;1lé15 from which y
(a) Hormones y Vitamins
(c) Proteins _ _
/) Rabert Hooke prepared and studied thin section of: ]
e tbl ﬁn Zx f these
(c) Cork d) one ol
) C. Linnaeus published thé names of plants in:
(a) 1753 (b) 1755
(c) 17§87 (d} 1758
)  Animalcules include:
(a) Baclena b) Prolozoa
I:Cf Coelentrata d) Bothaandb
]  The locomotion in plasmodium Is by:
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a)  Pseudopods > —— S
fc} Clila i d} nanen:' e ..

FULLY SOLVED TEST NO. 4
hooss the correct answer and Tn Eew 1L —

estion has four poss e answers.

chqu
ﬂ/c:’mr'%a ds are E%?J"‘ﬁ?u Into:
3 rophyli 8 Chioroph
U Light A m‘ Camﬁ’m’é" ’
. Myco

hl mhiza
d Both a and (b)

a .
L c Cuscuta
cess in which cell utl b“ 0: tE Sroduce:

Cellular rZSplratI%Tuls the pro

i)

( (+ : C%z i
tentlal an pressure polen

solute poa Osmotic potential

0 "8
{onal community primarily

tial are co!lectlv;ly called:

d Prolgins

Water potentia!
Waler pressure

Osmolic pressureé
determined b climate is called:

Biome

e
v} Alarge ! a Ecosystem
{: Ecological niche All of the above
The sm3 [ portion of enzymes which Is Involved In catalytic activity |s known as:
i) ar Catalytic activity b Substrale
') 7 ?cli\;e sile g . d None of the above
t of liplas In asma membrane ran es from:
i amount O11P ggﬁu% . b)  60-80%
c
Aplant virus usualgxy conslsts of an outer coat of protein and an Inner core of:
(vl a) DNA
[ fdPonsaccharld;a . d Chitin
theory of diseases was formulated Dy:
fix} Goet a)ry Robert Hooke b Robert Brown
Robert Koch d) Louis Pasteur
which of the following is @ giant amoeba? ) -
(i a)  Entamoeba hystolitica b Codosiga enteris
fc} Pelomyxa palustis _ Choanaflageliida
hich deals with the use of living organisms, systems of processes

. e branch of biology W :
wi)  manufacturing and service Industries Is:
Microbiology

Eb]) Ecology
d Biotechnology

(a) :
(A parasitalogy
in living organisms except:
(b) HO

il [norganic substances

Fo(Ilowing mf!al jons are

{4l )
N

(v) Cork is a: ) _

Dead animal malerial

(3
p) Dead plant malenal
¢) Living animal material

Living plant material
d Binomial nomenclature:

i) Botanist who devise
@) W M Stampley
¢) C.Linnaeus
(ovi) Animalcules were first observed in:
Dislilled waler

¢) Imigated water
i) Which of the following is

a) Amoeba

(c)  Stentor

E] 1
{c) Nucleic acids
used by some enzymes as co

the intestinal parasite?
Eb

(d) Acids
-factors except:
b) 2
d) Ccuw?

(b)y J. Lederberg
(d) Beadle and Talum

Ebg Rain waler
d)  Drinking waler

% Entamoeba
d Forams



(i)
(Iv)
(v)
(vi)
(vil)
(viii)
(ix)

(%)

(xi)
(ii)
(xiii)
(xiv)
(xv)
(xvi)

(xvii)

Each question has four
exual reproduction Is uncammon I
a)~ ﬁg;ewmﬂncﬂm H i
c -amycol3 tru
e following :ta!urnent about bryophytes is NOT
Vascular issues aré
' Gamelophytic enerali
c All of them are homosporeus

Which n;

Di t H?“e ':’[hmt'3 amlvelh hylum: pitalena
loblastic organisms belong 10 o phyium: i :
i ) ; Radila B porfere
c Cnidaria - ;
Porphyrin ring Is made up of: Hydrﬂph‘!b‘cshead
ia% Pholing m pyrocia ring
c ydroca ain | _ |
Deficiency of Futé;islum causﬁs 3 b) Lack,gl chiorophyll in young leaves
a orosis in old leaves g above .
() Premalre death of leaves ) oo :lléfl:cm]gs in biologica! useful way such as;
The energy is extracled and conserve from FOO% 70 AMP
Ea i?; d) \itamins
7
- Carrier proteins are invalved In: () Osmosis
a Ditfusion _ (d) pAclive yplake
c Facililaled diffus'on
Which of the following is a or anclle 5) Hearl
a Carbon dioxide ) ONA
C Lysosome J
The protein regulating melabolic processes Is: b) GRH
(a) Insulin (o aoth () and (D)
(c) Myosin (a)
The non protein part of any enzyme is called

(3) Bath (b)and (d)

()  Activesite
i
ding site , _
Which of ll.e -fnlei:}ni;gdgia:s with hie physical and chemical paramel;_er|5 of the water bodies?
a)  Migrobiology b)  Freshwaler bioiogy
¢c) Biotechnology d)  Parasilology
Metabolic processes are characterized as: b el

(0 ot 2 are d) None of the above
{ Proteins are integral part of:

(c) Bothaandb
The enzymes which are involved in the synthesis 0 |
a) Ribgsomes ) Milochondria
¢)  Plastids d)  None of the above
According to Robert Hooke, Cell Is an emply Space bounded by:
(a)  Thick walls k)  Thin walls
id] None of these

{c)  Muciloginous walls
f classification was proposed by:

The five kingdom syslem ©
(a)  Robert whillaker (b)  Margulis and Schwartz
(c) E Chatlon (d)  Emst Hackel
aresence of animalcules was confirmed in:
(a) Saliva Sb! Vinegar
d) Al of the above

(c) Inlusians
Which of the following causes Amoebic dysentery in humans?
(a)  Amoeba (b)  Entamoeba

(c)  Stenlor (d)  Forams
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se tha corfect T
n e

a
¢ Louls P oA
(i Which J;L |allmnlpl:¥?r::mw '
i) Which JC\L ]l:'l:fﬁd {haractaristics of vi m Schwann and
EEI ¢ "‘"?leng";:":: RNA ruses Is not liha"gft"’ Oken Schisiden
G O [ V&E"”‘ml; s @ baciily ¢ Pm:'::‘mww’
( ol l[ocom no Chole us? ' Crysa of DHA
'“; g_liio n and :lﬁ;;um ﬁ Hioampeen
c } rin ! Pseudamon
simpl : PeeUdc @ food d
(v) pie '-"f;ﬂ'ling g.r %Jdgupi?ﬂ] = in Parameglum ::?mmi:mﬂlm
. il plant helgng o lhe?fﬁ"ﬁ" ypphal fungi Is: Cilia
£ s ) L
c ;Loll’lari; epallceae Is ¢ ?:‘ Fm‘r‘m
(H‘“, Mlmbﬂr? of phﬂurr:ﬂ“C'Um Nong al tha ilnl: : '
a) O\ SITHET e b) .
) (c) alyhelminth have Marchanli
(vif) Unit umgarj:t Is: Echinodemmala m'"”“““ﬁ,ﬁ s"haﬁz::lr:
Watt Nemato
C matod
f|l] TUSkS of a]n el np:‘:::n;:e d% -Anhfﬂ"x:a
a G - : D
i B o
) splrﬂgv gases are exch 5 , of the above
(c gt lasing een; Additi
fevel? fig deals wiith th ; Qul sid
(@) Micrabiolegy the struclure of odr. Cells aﬁsm body
¢ Molecular Biolo panisms, th ananes
{xil} The basic elem r Biolagy , the cells and th
a Car[;r.n'('em of organic co (b) elr organelles of
c . oft mpound Is: (d Freshwale molecula
EJ} Eemn g enzymes s capable ({hd]] Hydrogen
(V) No body c:ﬁsf"f;?‘geln ble of desul-:lnylng CE“.E::‘gen
E; Lorenz Ohe']:a ifits conslituent d:; F;Epsin ernal structure?
() The Botanical n of cellular tissu
a) Sola Wi of potato is: (b J, Bapti e was expr
) (c) Rojanum iy B (d R H;gf‘ de-lamark essed by:
wi Louis Paste um Xanthot ‘ e
teur arpu :
s pepells opeiopc theive ()  Solan
rax vaccine (d) um lube
o] W Tuberculos| s for the follow Sglanum melangen:
ich of the fﬂlla-j;s . + ing diseases e ang=na
(3 T llowing |5 a co )  Ralies cept
( rypanasom mplex speci (d) 2
. ¢) Tricho a pecialized 1 Fond ch
nTn‘D"!a i agE“atE with "?lera
b) E any flagelia?
N Eachc F & Honeol
ch question ha . ULLY SOL - ne of the above
s four poqsil. 1 VED TEST
ers. Choose the .
2 (ne corre
ct answer and in circ
C

T Cylop
oplasmic s
trands, which e
, which extend throug
xtend through pores in
( s in adjacent
cell walls
, are called:
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m wone of 1N

i {g} :!Ismmmua s
' iddie Lame 50L0IC.
Coal form Ng age was dominated In: b) mmmrﬂ" 0@
(8 Cenuzaice cra fdl i
li (c Plaeazoic era "
() Protaing comprises how much of the cell? b} i’gaz tes7
;a} 60% o s 850051
i t 30'}’ | " n ent -tu{ .
) Whicho I.Le followin g behaves as “bridge be‘“‘"“{,’ co labarc sile
o b guhslr
gaf {«chve sile id
c lons d: 15
(v) Intake of large liquid particles Ins|de the cellIs c;!l% | E’oiﬂﬁ:ss 4
a) Facililated transport di Pinocy gy anly the
c Phagocylosis bo
”}J - i inroduces 11to
(V) When a bacteriophage attacks Its bacteria! hosh !b)l Erﬂd
a) Tail _
: £)  Protein E .. and Blue gréen algae
(v} Kingdom ;;miaqg:ue Includes: b) ga ';S::q and VITUSES:
a aclena and fung! ac
: c) Blue green algaegand fung! m?:gn? ales
(vlil)  Of the following, whitg is also called shelled pro znnﬂag&r 35
ﬁ} Ellmles q Foraninie
c moebas
(ix)  Mildews and mosi rust specles are® by Obligate gam;gf:
"al ggchulsalwe n_;;ras?ms . Nane of L 3 Ii o157
(4 thaand (b v {s an -
(x) Which of lLe following is, NOT the difference batween monoco

ai Leaves af mnnocals are u».z'fl:‘m ; oa

b Leaves of dicols have nelles ve ;
(3] Menocal slems dy ral show se«:onda_rrl gfﬂfvﬁ;’,
(d Floral parts inmienacots are 3 or mullipie O

() Marine ﬂ{glﬂgy includes: s
(&)  Study of manne e @ : far marine
Fb; Phys‘fcal and Ir.he:*n.ir:alcharaa:h?rtzr.rrcs ol the sea acting a5 faclors
’;; Both a ane b
Norg ol the above
(xii) Whi?h of the following percentages of water in bn(rée cell;ssg-! Human?
(a) 10% ) /e
(€} 20% (d) 25%
(xiii)  Optimum pH value for pepsin is:
’a) 105 ) 107
¢} 108 (d) 200
(xlv)  The cell consisted of:
(a)  Nucleus (b) Cyloplasm
(c)  Plasma membrane {d)  Allof lhe above
(xv)  The Bolanical name of Tomalto is:
(B)  Solanum mgrum

(a)  Solanum lubergsum _
(€)  Lycopersiam esculentum (d)  Allium Cepa
Which of Ihe lallowing processes is the most significant contribution of Louis Pasteur?

(xvi)
(a)  Stenlization (b)  Pasteunzalion
; (e)  Distllation (d)  Fillration
xvil)  Which of the following lives as symbiont in Ihe gut of termites and helps in the digestion of dry wood?
(a)  Trypanosoma (b)  Trchonympha
()  Euglena (d)  Vorlicella

FULLY SOLVED TEST NO. &

: Each question has four possible answers. Choose the correct answer and in circle it

) Members of which phylum secondaniy developed radial symmefry7
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il

(v

¥

(i)
(¢)

i

(el

(i)

e —

.
Formula :i c.'lldr%-ph gfb In; m Echinodermala
uwHROWNMg b) Cuektn Ol
(4 c : st in
e SR B enas
2 Decomposer e
c) Delilivara 5 gunnhura
Eﬂh"‘ﬂ;"' paas during organismic respiration Ia caried out anly BY:
'ci Esgnp?faslmn 2 Do Yo
Aylom vessels “[.}:3 d Vaporizatin
a ad cells Living cell
c Meriste mabc cells g} Waler storing cells
Treating eancar with modicines at regular Intervals is calied:
a3 Chematherapy b RodinhefapY
) Genelhara HineE
Py d Medico
Which of the following Is carrecl as sampla of lerpenolds
] Rubiber h) Tesloslerone
(v Carnlenoids d All are CO
which of the following characlers Is not true about co factor?
a) It is a part of all enzymes.
b It s essental lor some of chemical reeclons
) They may be melalic ions.
d Bolh {a) and (B).
carries proteins are required for all.
(a) Facilltated transpor B Passive lrznspont
c) Aclive transport ' All of the above
R'p;.odu:tinﬂ In viruses can takes place only'when {hey are Inside {he body of
o d er virnd :
o ommanly used In forming the ehemical

naturally occurring ehemical elements. 318 c

y man
Eg:pzngs from which living grganisms are made? R 9
5) 10
14 d 16 )
whti:;h of the {ollowing percentage of water found in thfbhmln gg!ﬂ}rs of human?
-]
@ 12 ) 90%

c) g5% B cin:
' hange I N ) |
- ig)gm ¥ I'? > \he ignizalion of (ke amina acids.
(b) Alfec! \ne ionization of lhe substrates.
Retard on the enzyme aclivity.

, fﬂ Allof the above e
The cell theory Was proposed DY S— P

Louis Paslieur
[Ef Rudalph wirchow d) Lorenz oken
ical name of Amaltas is:
Thfaamglassia fistula (b)  Solanum lyuberosum
(c) Lycnpesf:.ir:un‘l esculentum d{g] Alllum cepa
- anisms could cause disease Was proved by:
ol b Robert Koch

a) Roberl Hooke
Lauis Pasteur (d)  Robert Brown
which of the following causes Aftican sleeping sickness?
{a)  Trypanocsoma by  Euglena
(e)  Stentar d)  Vorlicella

FULLY SOLVED TEST NO. 9

rand in circls

Each question has four possible answers. Choose the correct answe

[

Highest grovdﬁ'i_h?bﬁ-rium may be attained by:
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| 2 hﬁc’h"”‘.”ms nigrefuscus bf Bgun'l.usl sublilis
(i) Huge llﬂ;E. d["!rﬂﬂﬁ:[llrll? ﬁﬁt blades, slipes and hf, dlast, El];l g; ed: -
| c Eiﬁr!gﬂagstlateg d% o ,ﬂ'ﬂifm as the:
(i) Aplant body which Is not differentiat into root, stem 3% i
:1 ﬂ'ﬂﬁ“um id} Hom ggﬂnlum
(iv)]  Plerisisan axamprg u?: | Gymnospem
g‘ ;‘gﬂgmm ib Llwt?flg‘:‘i‘fl“-: they are :c'ou!nmam?
(v)  Which phylum Includes animals without the bady €YY arpgﬁl.ﬁu 7 Chidana
3) Phyluin Platyhetminthes b) Phylum Chordala :
€)  Phylum Nematoda glomala o apen eVen In the dark,

(vi)  Alowconcentration of of In the leal lndhur:n Skicose

EEJI %L}l‘:ren {d Carban Jigwide
(vll)  Intracellular digestion can ba observed In: Hydid
}Eg Amoebia {,h; Cockmach
c Planaria (d “J¢ better respiralory medium then Waler,
(viii)  For gasesous exchange through membranes, ———— gytoplasm k
e e
(ix)  Cohesion tension theory was praposed by: Muneh
Ea; Dixan b) KreD BT\ A
c Cal : : |s by iiving © sms s .
(x) Removal or degradn‘l"ilgn of environmental pallutants oF “"‘E,J‘,‘ﬁ,ﬁf{ﬂﬁmmf s
;:3]} g'llﬂgrat-e-:i diseasa management - (0) Alalihe gbgue
c iodegration o \uman bo
(xd) Hnw}manyé Einelementi accourt= (or98% ol (he tota! I"";""S'm*:ha Ll
£ S ) S
o 'Fc] . gr 8
X The specific heat capacity of waler is:
(a) 05 g ol 1'3
N 0
Xl ollowing are the inhibite A )
i i %;ya;g:; nhibitors except b Antibiotes
' ; Malanic acid

(€] Anlibadies i) . ;
xiv & scienti : W exper ol [ Aol hyi;chawshypolh%ls.
(xiv) “The scientist who supplied experimental proof or{ﬁim Digohéd e

(@) Lows Pasteur
Roberl Brown

(e} Lorenz Oken (d)

(xv) Diatoms belang lo the kingdom:
(a) « Morera (b)  Prolisls
(c)  Fung (d] ~ Planlae

FULLY SOLVED TEST NO. 10
B Each question has four possibile answers. Choose the correct answer and in circly
(i} Polymer of repeating is sprenold units: - e — L

a Phosphioligids (b Alarne

c Terpenads (d Wazxes
] If co factor Is covalently bonded to enzyme, we call it;

(a) Co enzymi (b) Apo enzyme

() Halo enzyme (d) Prasthet group
(iif) Fluid Mosalc Model explain the structure of. :

(a) Hucleus () Cell wall
. (c) Cell membrane (d Cell
(iv) The fact thal a virus can be transmitted from an inf’er‘:!cd organism to a healthy organism of

kind was demonstrated in 1892 by
(a) Beadle and Talum (h) (vanowsky



(C) “_T;;;;_-?=:================:=========::_ o2
Which of the nn lederbarg - —21
(\"i a rnuusﬁ::gét;:a:m Is NOT present In‘glll the h:v.y.isg’amey - |
A Nucleciy b cterla
g sexual Cell w=l ‘
wo ™ process exhibited by mast clifates Is cajlag: oMo

a a
e Conjugation b *wnary fissl
ual phase h oty fisstan
o SeXUE RS ’il';';rfngr_-'ign observed |n: Ed} Farilizalion :
which chgracted:gaslls "Ei O e Tanoy
slic Is pecuy Rhizopus
(viih) (a) Compnﬁn q ‘;';:;: Flllcinae only? =
(c) Photosynthelic EL; Allernation of generation
pugesla Is zoological name of ; d Circinalion
a) Sea anemone
c) Planaria g Eﬂﬁr#u‘ra
t action spectrum was <btair _ elly s
e a : TW, Cugelm;‘; dIn Spiragyra by: :
¢)  Melvin Calvin g "s‘ﬁjﬂjﬂ
Highly Siﬂﬁlrﬁglléﬁgslr!:lng substance In a living thing Is: o
asl b Chromoplasm
c Leucop . {d None of the above
m The specific heat of vaporization of water |s: | |
(x (a) 570 Kca[t::g b) 574 Kcalkg
)  S78Kealkg . d) 582 Kcallkg
i) which of the following is not a characteristic of irreyersible inhibitors?
(xi (3) They occupy lhe active siles by form™.g covalent bonds
()  They may physically block the aclive siles
o) Tiey formm weak linkages wilh Ihe enzymes
\  They deslioy the globular struclure
resently living cells have a eommon origin becavse they hav

(ix)
(¥)

(x)

e basic similarities in structure and

fxiv) :—,E,rgcules, etc., was the Ideaof:
(3) Louis Pasteur () August Weismann
(c)  Roberl Brown ‘ (d) Larenz Oken
Kingdom Protista includes the following except:
(x¥) a) - Diatoms b) Yeasls

( G] Cyanobaclera d)  Dinchagellales

sannseRa b beRindeninn

@ Answers

FULLY SOLVED TEST NO. 1 _

F M) b | o W) T
(v [t | | -
—x | 4 i C xli .

o e ) S 1 B
= ——FQLLY SOLVED TESTNO. 2 =
— a4 | i ) T
E s c ] [:r_uJ) | b (viii) b

b 1 a | (g | d (i) d

a e | fy | b L (o) c
|l ; | | ! _

FOLLY SOLVED TEST NO. 3
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IDIOoms & PHRASES- -

It will not be wrgq comum

I | - 8 [0 gay thyy iy tuden nera

grrors in the use of idiom and phragey ioms ang Phrases are the soul of a language. § ts genenally "
se they dg not know their exact meaning.

113

Directions. Givep below ire 300

se the carrect | objecti
Choo TUEAMNGS of thesg jdiom. (- YPE (mulliple choice) questions on [dioms and Phrases.

1. Al and sundry: oms and phrases out of the four responses @, b, € and d

i everybod . .
& without Y () only ricy perso 45 A bone of contention:
distinieti & fa) bone ol alion fbh) a reason for
- discord
¢) togcther : :
, il A Sl (@ sc lectod pecinli fc) ?:Iiz:ed]hip of (d) continued to bed
("J_J length of arm ®)  abadi 16. A cack and bull stary: '
(c) insult L a distance ) ® .
) gt @ eyt | gy () g s
fa) real cause ) o 17. A gala day:
) alenmity (@ o b puzzed (@ ndayoffestivity (&) adayofigricf
nd ba s al rl'llmd-shlp : _ .
4 Boga £gage, fc) arainy day (d) arclevant story
fa) all the Clclhmg (5) without 18. A hard nut to crack: ;
Toeot uny fa) tobe deceived Bl
be / . ATy
(C,J IE:H‘C rﬂ‘) wti:::"g:;ig ﬂne.s {CJ o Eﬂnnnﬂ (d;’ a dlﬂ-lcuu
: problem
5. Bed of roses: belongings MO it o itraw:
(@) very soft bed ®) dull lif fa) u puppel (h) influential
) belong to d  full o;"“: fe) onc who has no fd) 1o struggle in
. fa-.' el sl ®) | | 20. A tarncoar:
rl']' in defails (d) :fﬂj. SInw (4). onc who changes (3) awetcoal
7 In cold blootl armlessly onc's opinion or
. : i i : party
(@ o ful m;?cra_hon () unintentionally (c) apoor man () man of
(c) d""“h:r""?!}' (d) tochase principles
g Inthe teeth af; 21. A fael's paradise:
(a) real cause (%) in the face of {a) an (b} Utopia
fe) an the end () in the beginning underdeveloped

) Jas and ouls: country
(a) nodetails (b) finally fe) in a state of (d) objectio
c) major share (d) full details happincss

f, Lion's share: founded on vain
fa) look angrily (b) major share hopes
fc) minor share (d) heartof the prey | 22. A white elephant:

. Out of question: (a) :}cphmnls of b a bulfdensumc
fa) resemble (b) casy Kerala mNGaNRaL
fc) impossible (e)  for the end (c) in disguise (d) o snobbish

e e dard 2. A to grind: e
fa) feel greatly (b) standar VAR REATR R .

(’r:jJ cxnnigu;sh (d) below standard (a) touch life (h) “”miw unselfish
m .

- With open arms: : ,.

() u::rmly () cold-blooded c) selfishmotive () - W any
0) e ! .
¢) resemble (@) coldly 24. Beat a reireat:
A black sheep: , | (a) to retire before (b)) to face  the
(o) st (b) on the run | nemy

stranger the enemy cnemy
fe)  scoundrel (d) gentleman
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ce

(@)

{c) toobject

25, Be on the horns of a dilemma:

(a) of the first quality ®)
(c) to have a choice
between two
equal evils
26. Al the eleventh hour:
 (a) indanger (®)
(c) stralghtforward (@)
27. In the arms of Morpheus:

(a) sound aslecp (d)

(¢c) reprimand (d)
28. Call a spade u spade:

a) cordially (b

(c), 1o be outspoken (d)
29. By hook or crook:

(a) by fair means ®)

(c) forever (d)
30. Crocodile tears:

(a) incidentally (b)

(c) insincere sOITOW (d)
J1. Beat about the bush:

(o) approach a (b)

’ subject slowly

(¢) 1o beignored (d)
32. Born with a silver spoon.

(a) bom of poor (b)

family

(e) punish (d)
13. Bid fair:

(a) 1o be reluctant (b)

(c) show promise (d)
34. Black and blue:

(a) painting ()]

(¢c) ‘together (d)
35. Blow hot and cold: ~

(@) support and (B)

opposc at the
3

n (rumpel:
D0. | B
2 :DDI;E others  (b)
4 T3
I_(li_z i 11112:‘5: onesell  (d)
ﬁﬁ. D |2(]:""E‘i~
|24.] € 1_2_5_:“:1\ tand (b)
29.] A (130 B (d)
34| € (13515
39.] D |40 ¢ e

feel greatly

be very busy
to Choosu

petween WO
goods

just in time
before time
waking

be submissive

speal
diplomatically
to speak very
plainly

by fair or foul
means
strajghtforward

take & firm stand
more than

enough
sincerely
make clear

to struggle |n
vain
bomn of wealthy

parents

take 2 firm stand
with all energy

severely
intermix

firm
determination

major shere
speak abusively
balanced

to speak Jast

to speak first on
a delicate matter

N
(b) hunt for
a) (d) make way
r(‘g) mlkﬁ ?:ae . one s Ml‘ﬂd:
9. Toghe "-i é’ € praise
disch
?3 abandon o @ rge
40. Capital pu" ishmer™ ) death penaly
(g) objectto “(d) balance
(c) release -
41, A burning QUEEEE ) an old im
(a) 8Presen issue Pty
d) life
matier hotly (@ M€
(€) fﬁsw i in imprisonmen|
ublic .
A feather in ome’s €oP° :
¥ ;;{ something 10 D€ ®) somcdthmg o b
2shamed of prou 9["
(E') C]"Gd[lablc success (ﬂ:’ kcep silent
43. Chicken-hearted:
(@ cowardly (b) fearlessly
fc) festive occasion (d) sincerely
44, Come off with flying colours:
() compensale (b) take care of
(c) achieve creditable (@) keep silent
SUCCESS
45. Cutasorry figure:
(a) to bat severely (b) make a poor
show
(c) toventure (d) todiscourage
46. Eal zne's words:
(a) withdraw one's (&) tocontinueon
words  °
(c) to persist (d) remain valid
47. Eat o humble pie: d
(a) feel hungry (b) eat greedily
(c) to face (d) to face jubilation
humiliation
48. Get Into hot water:
(a) take bath (b) get into trouble
(c) without aim (d) a difficult
roblem
49. Go to the dogs: ’
fa) gotoruin (b) po to heaven,
(c) beashamed of (d) toresign
50. Hand and glove: '
(a) pass time (b) on very intimae
terms
(c) very beautiful (d) very reserved
51. Hit below the belt:
(a) toactunfairly (b)) to act in [aif
manner
(c) togiveup (d) 1o act bravely
52, Leave no stone unfurned:

to rest

(a)

(b)

to do everything
that can be done
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to fight

1 M"‘" o clcam breast of;

1o blame others

(4 to respest

fel

fud)

)
()

54 A hole and corner policy:

1o finish
F:‘}l secrel, underhang

policy
55 A jrundiced eye:
fw) 3 prejudiced
person
(c) an unbiased
person
58, At random:
(a) beyond control
(e} atalvantage
§7. Over head and ears:
(a) wery tall
(c) completely
immersed

38 Nip the evil tn the bud:

(a) w destroy an evil
in its early stage

(&) 1o loster an eyl

59 Of one's own accard:
fal  pive up fighting
(z) unwillingly

o0 Part and parcel:
fa) heavy package
fc) essential parry

&§1. Play ducks und drakes with;

(a) losave money
fe) tofight =

62, Poke ane's nose into:
() tointerfere
fe) W crilicise

a1, Pros and cons;

fal o amuse
fc) 1o deceive
04 A queer fish:
@) abg catch
(z)  arespeclable
65 Spick and span:
fa)  very hard-
working
fe) u fancy othiers

6. Scat-free:
fa}  wnpumished
fe)  mive up

67 Red-letter day-

)
(d)

()]
(d)

(b)
(d)

(k)
(d)
h)
fd)

(b)
(d)

(%)
)

()
fud)
My
(d)
b
(d)
(b)
(d)
(b)

(d)

()
()

0 punish

Lo diseay
o cop foay

Full
one's fauly ¥

open policy
unreliable
Persop

ofTer gralitudes

an intelligeny

in a
paltam
withowt aim or
Purpose

definjte

unconcerned
o quarre)

to fight

1o agree with

willingly
1o ke care of

useless parly
I cormpe nsate

o be on the run
to squanter
money

uncancermed
o conlinue

keep silent
reason  for
againn

and

a strange person
a nch persan

neat, sman and
hdy
untidy and dinty

respected
conbinge an

wad W 1S

@) nday of great joy
of impanance

fe) ripe ume

b

135

a miseraklc day

(d) i perfect order

6B Make hay while the sun shines:

fa) 1o dance happily
fc)

lavourable
candition -
69. Pull the wool aver one's eye:
(o) o delay ™)
) 1o suppress .« (d)
70. Rise 1o the occasion:
fe)  do habitually ]
fe) 10 undersiand )
71 Turn over a new leaf;
fu) w mead onc's M)
way
fe) to discard fd)
72, Too many irons in the firc:
fa) hig fire {7
fe) . o relax (ef|
7. Tothe backbone:
@) very weak 1)
fc)  thoroughly (d)
74. True to one'sgale
fa)  be sucecssful (b)
fc) o umdersiand (d)
75. A bali from the blue:
(o) pradus) process )
(c) 1w delay fd)

T6. A car's paw:

fal o be used 2 a
el |

fc) become
restincticd

77. A Herculean tashk -
faj arouse appetits
fc) 1o b= suceessiul

78. A fuh aut of water;

™)
take advantage of (d)

(i)

il

(bl
(di

(b
fud)

(h)

faj ahoax
fc) above par
79 Be arone's back and call-
fai  Under one’s
ahsolute cantral
fc) o mprove
&0. Burn one's fingees:
(a) become

o hurry
o destroy

to encolimaLe
o deceive

lo equal w an
omergency
to yoin athers

o be presznl
o NUTVIvVE

{[ENH] 4 many
cagapgements
o Amusc

very stingy
1o dissourage

unfanhfsl
fathiul 1o one's
master

& sudden
compleate

SUTPrise

u d=liherale
move

lo co=-Opei ate

i

o underystand

4 very easy 1ask
cautroincly

ditficult b

i awrong place
T\}a_'hl;h_‘r'h' ;!'JC&‘

o get W o
trouble
(d) o lay asde
(b 1o hurry
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ogars Unique AFNS Guide "  miliar person (b) boastful tay,

recongiled
(c) to getinto troubls (d)

make it difficult
for

81, Burn the candles at both ends:

(@) awealthyperson  (8) 8 1azy perse”
“(c) treatasimportant (d) use up 100 much
energy
82. To cut the Gordian knot: 1 .
@) to do an casy to  solve
thing difficulty
(c) ready made (d) to have no cffect
83, Face the music: ‘
(a) love music (b) toavoid
(c) face . the (@ to delay

gonsequence  of
one's action
84. To let the cat out of the bag:
(a) to get into trouble (3)
(c) have a fever (d)
85, Laugh up one's sleeve!
(a) toamuse (b)

(¢) 1o laugh secretly (d)

86. Kick up a row:

() make 8 pgreal ()
noise
(c) to pursue (d)
87 Hush maney:
(a) soft money (&)
() wmoney given s (d)
bribe
88. Hir the nail an the head:
(a) o make tidy (b)

(c) meetbychance (@)

to keep a sccrel
to reveal a secret

to make others

laugh _
to laugh
public

meel by chiance
noiselessly
easy money

noiselessly

to do the right
thing
do wrong things

89. Can't see the wood for the rees:

(a) silly person (%)
(c) unable to see the (d)
main point
90. Go the whole hog:
fa) torescue (b)

(c) do part by part (d)
91. Take the bull by the horns: -

~fa) to evade a (D)
difficulty
(c) grapple with (@)
difficulty
92, Throw out of gear:
(a) toreplace (b)
fc) 1o decide .« (d)

93. To and fro:

fa) back and forth (b)
(c) amazed (d)
94, Tall talk:

a fool
to encourage

to do thorouphly
to insult

blush or grow
pale
spoil
flattery

with
hinder, disturb
take up tune

puzzled
reprove

af
a sweel song

@

pell the cals
> (ﬁj lo do an €3sy job (b)
fc) 0 undqrtﬂke' a (d)
difficult job .
96. To be under cloug:
(a) puzle (Zj
(c) talk lhuughllcssly (
7 To castasiur upom:
’ (@ to discuss (h)
(c) topel rid of (d)
_ Throw up the spOEE:
" (z) & to tﬁ:fy the encmy (D)
(c) abandon the (d)
struggle

99. Throw dusi info one 's epe:
(@) be serious

(c) " ioclarify (d)
100. To give venf (o:
(a) Iio allow to flow (B)
forth
(c) toamass wealth  (d)

101. To eat humble pie:
(a} 1o apologise or (b)

(d)

o confess

(c) toflatter
102. To hang in the balance:

(a) to guess right (b)

(c) 1obeundecided  (d)
103. To leave in the lurch:

(a) 1o study ()

(¢) tolay aside (d)
104. To mince matfers:

(a) to gaindistinction  (b)

(c) to alk ()
thoughtlessly

105. To pay the piper:

(@) to  bear the ()
expenses of an
undertaking

(c) capsize (d)

106. To pay through the nose:

(a) loignore (b)

(¢) to pay much too (d)

high a price

b 4

interesting Story
to be indiff,
to freny

to clarify

cnjoy the favoy,

to _b'e nde,
suspicion
assume
responsibility
to bring ing
disrepute

tD o mmu\ic
restrictions

to be deeply
moved by

to mislead,
deceive

become definite

o prUVE a
failure
to evade

to order
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